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Instructions :
() The marks are indicated in the right-hand margin.
() There are NINE questions in this paper.

(i) Attempt FIVE questions in all.

(iv) Question No. 1 is compulsory.

1. Choose the correct answer (any seven) :
K N 2x7=14
(a) The correct descending ordering of the
following storage devices according to
their speed is_

P

2. register
3. cache

Bt 0T . Bl

(2)

(b) Machine level language is a ___
language.

(i) middle
,(m) low

(iv) high and middle

() Which of the following are secondary‘
memory devices?

1. RAM

2. Pendrive |
— L1

3. Register )
_4. Hard disk

() 1 and 2 () 2 and 3

(@) 1 and 3 /(iu) 2 and 4

(d) How many of the ’ “ ‘
browsers? o4 ‘
‘ W Google
2. Wmdows .
e Chrome v .«




t‘wmt‘will be the bu‘tptﬁ’of{h ‘

8 a1 91«)1

- 4 g e .,
#include <stdio.h> Th ca &
2. float S 3
: int else=2;
3. long int e ,
’ i “«o/ 7 .
4. string printf(“%d”, else);
; | % s
I(l) 1 and 3 (tl) 2 and 4 ; (u) i

Pictorial representation of an algonthm
is called

(i) pseudocode

(if) program
' #Eik
flowchart o
llu) 3 i1 - : ~" "m t
(iv) complete algo A

)T

(iv) None of the above

() What will be the output of the following
C code?

- return 0}

R

#include<stdio.h>

int main( ){

int i=5, j=2; 1w ol Gl
for (=1, j<=10; j++ )
++1’

printf(*%d”, i);

382 (s = BX T



(5) v

L
"l i S
4._(a) Whatis weo prowser?
AP) Explain e-mail and the ‘.‘p"D ess
sending an e-mail. "

() What will be the output of the following
C code?

#include <stdio.h>
void main( ){ ' '
int i=1, j=5; () Write a program in C that takes foun “l
j=4 “  integer values a, b, ¢ and d from the

J=it+; terminal and evaluates the ratio of (atb)
printf(“%d and %d?, j, i)} to (c-d) and prints the result, if (c-d) is %
: not equal to zero. 4+4+’6!‘?
() 2 and 2
(i) 3 and 3 S. (a) Explain different looping techmques -;
with examples in C.
(i) 2 and 3 ,'
(b) Write a program in C to print your city
(iv) None of the above 5 of birth 10 times in same line using
while loop. 9+

2. (a) Explain the advantages and
' disadvantages of second generation of
computers.

6. (@) What are various types of o
o [hsupportedx 'by‘u,CI lm
~ briefly each ofthem &)

(b) How is ROM different from RAM? 8+6=14

3. (a) Explain the term IT and describe its

- advantages.
dgl

iat do you und,



using array with proper checks
comments.

' § ok Kk
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